Additional File 1

The inverse iterative map
The inverse map:

T2 = §1(s, 1)
Tiv1 = gi(Tiz1, T4), 1<i<n

dr = gn(wn7xn—1)~

Explicitly we have:

as {(S — wlﬁal) ((x1+a1)(1 —21) —c121) — blxl}
(s _ oy ) ((x1 +a1)(=14+z1 +e2) +c121) + bz 7

To =

T1+ay
i i—1 (T + ai)(1 — x;) — ciwy) — biejw; ,
xiH:aH{aﬁ 1 (2 + @) (1 — ;) — ¢ay) eac}7 l<i<n,
i1 (2 + a;) (=1 4z + €j41) + cixy) + bie;x;
(l'n + aD) {xn—l ((xn + an)(l - xn) - Cnxn) - bnenxn}
xnflxn(l'n +an) .

dr =

By setting zp = 1 — we can write g1(s,z1) = g1(zo, z1).

X1
s(x1+ay)?



